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Cuesticon Label | Comprehiension



The following table presents the data on the number of vehicles of three different types (A, B
and C) produced by a company during seven different years from 2012 to 2018. Based on the
data in the table, answer the questions 1- 5 :

Year — wise production of three types of vehicles

Vehic
Yﬁar A - Type | B - Type | C - Type
2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 30000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000
Sub questions

Question Number : 1 Question Id : 6154759208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The following table presents the data on the number of vehicles of three different tvpes (A. B
and C) produced by a company during seven different vears from 2012 to 2018. Based on the
data 1n the table. answer the questions 1- 5 :

Year — wise production of three tvpes of vehicles

Vehicle
Year A - Type B - Type C - Type
v
2012 2000 20000 15000
2013 15.000 10000 22500
2014 10.000 15000 30000
2015 17.500 15000 23000
2016 25.000 20.000 15000
2017 13.000 25.000 20000
2018 30,000 32.000 25000

Options:

61547535901, 1
61547535902, 2
61547535902 =2
E1547525304 4

Question Number : 2 Question Id : 6154759209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The number of A — type vehicles produced in the year 2014 was what percent (%) of the
number of C-type vehicles produced in the year 20167

(1) ~ 33.33 % (2) ~66.67%
(3) 50 % 4 15%
Options:

B1547535905. 1
51547535906, 2
61547535907, 3
615475353908, 4

Question Number : 3 Question Id : 6154759210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In how many years was the production of A — type vehicles less than its average production
over the given years?

(1) 2 (2) 4
(3) 3 4 1
Options:

61547535909, 1
61547535910, 2
E1547535911. 3
E1547535912. 4

Question Number : 4 Question Id : 6154759211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the average number of B — type vehicles produced by the company over the years?

(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

515475359131
61547535914, 2
61547535915 3
61547535916 4

Question Number : 5 Question Id : 6154759212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following years was the total production of all the three types of
vehicles 600007

(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

51547535917, 1
61547535918, 2
61547535919, 3



E1547535920. 4

Question Id : 6154759207 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to5)
Cesticn Label | Comprehiension
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2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 20000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000

Sub questions

Question Number : 1 Question Id : 6154759208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 10 % 2) 5%
3) 20% 4) 25%
Options:

51547535901, 1
615475353902, 2
615475353903, 3
E15475358904. 4

Question Number : 2 Question Id : 6154759209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T4 2014 | IeATEd A ST aTEA1 = TG 99 2016 § IeArted C 3T ATEAT 6 Tem w1 R ufdera are

1) ~33.33% (2) ~66.67%
(3)  50% 4) 15%

Options:



B1547535905. 1
61547535906, 2
61547535907, 3
615475353908, 4

Question Number : 3 Question Id : 6154759210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 2 (2) 4
(3) 3 4 1
Options:

51547535909, 1
61547535910, 2
61547535911, 3
61547535912 4

Question Number : 4 Question Id : 6154759211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

615475359121
61547535914, 2
E1547535915. 3
E1547535916. 4

Question Number : 5 Question Id : 6154759212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

E1547535917. 1
615475359158, 2
E1547535918. 3
B1547535920. 4



Sub-Section Number: 2
Sub-Section I1d: 615475400
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 6154759213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

By selling 70 pencils for Rs.90/- a person makes a loss of 25%. How many pencils should be

sold for Rs.234 to have a profit of 30%?

(1) 95 (2) 100

(3) 105 (4) 110
Options:
51547535921,
E1547535922
BE1547535925
B1547535924

o LI

Question Number : 6 Question Id : 6154759213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
UF =FEd 70 e ®1 90 T H 39 F 25% B 32T 7 | 30% AT FHE & 0 234 9= H ThaAl
UTer ST BRI Y

(1) 9b (2) 100
(3) 105 (4) 110
Options:

E1547535921. 1
B1547535922. 2
61547535923, 3
51547535924, 4

Question Number : 7 Question Id : 6154759214 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In what ratio must a vendor mix two varieties of sugar worth Rs.60 per kg and Rs.78 per kg
so that by selling the mixture at Rs.76.8 per kg, the vendor gains 20%?

(1) i ) 7:2
(3) hia 4) 5H:2
Options:

E1547535925. 1
E1547535926. 2
E1547535927. 3
B1547535928. 4

Question Number : 7 Question Id : 6154759214 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0
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(1) 114 2y 7:2
(3) 518 1) D2
Options:

B1547535925. 1
61547535926, 2
61547535927, 3
61547535928, 4

Question Number : 8 Question Id : 6154759215 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which given of the following sets of letters when sequentially placed at the gaps 1n the letter
series below shall complete 1t?

bb b ab chba bebb

(1) achac (2) achbbb
(3) cbhbhba (4) abbbe
Options:

E1547535929. 1
61547535920, 2
61547535921, 3
E154753593%2. 4

Question Number : 8 Question Id : 6154759215 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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gt 31
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(1) achac (2) achbbhb
(3) chbbha (4) abbbe
Options:

615475359291
61547535920, 2
E15475358921. 3
E1547535932. 4

Question Number : 9 Question Id : 6154759216 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Out of a total of 10 students, the average weight of 9 students is 60 kg. If the weight of the
10t student is 9 kg more than the average weight of all the 10 students, then the weight of
the 10t student would be :

(1) 61 kg. (2) 69 kg.
3) 70kg. 4) Tlke.
Options:

615475359352, 1
E1547535924. 2
E1547535935. 3
51547535936, 4

Question Number : 9 Question Id : 6154759216 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
et 10 fammiear 5 & 9 faenten =1 sitas === 60 .01 2 | 3tz 10 o faen=i =1 o= adt 10 fa=nfr= =
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(1) 61 .. (2) 69 fHm.
(3) 70 T .. (4) 71,
Options:

B1547535933. 1
51547535924, 2
61547535935 3
61547535956, 4

Question Number : 10 Question Id : 6154759217 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following was not a Millennium Development Goal (MDG)?

(1) Eradicate extreme poverty and hunger
(2) Improve maternal health
(3) Ensure healthy lives and promote well being for all at all ages
(4) Ensure environmental sustainability
Options:

615475359357, 1
E1547535938. 2
51547535939, 3
61547535940, 4

Question Number : 10 Question Id : 6154759217 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547535937, 1

61547535938, 2

51547535935, 3
61547535940, 4

Question Number : 11 Question Id : 6154759218 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose the person who has control over self, mode of communication and method of delivery
in class room from the following :

(1) Student (2) Teacher
(3) Audience (4) Visitor
Options:

E1547535941. 1
61547535942 2
61547535943, 3
E1547535944. 4

Question Number : 11 Question Id : 6154759218 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547535941. 1
B1547535942 2
61547535943, 3
61547535944, 4

Question Number : 12 Question Id : 6154759219 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Select the period in which India became a centre of higher learning.

(1) Gupta Period (2) Buddha Period
(3) Mughal Period (4) British Period
Options:

61547535945 1
E154753594E. 2
E1547535947. 3
51547535948, 4

Question Number : 12 Question Id : 6154759219 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

£1547535945. 1
61547535946, 2
E1547535947. 3
51547535948, 4

Question Number : 13 Question Id : 6154759220 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following groups has the components of paralanguage communication?

(1) Voice, Emphasis and Impression
(2) Social Space, Voice and Impression
(3) Voice, Social Space and Expression

(4) Emphasis, Social Space and Voice

Options:

61547535949, 1
£1547535950. 2
61547535951, 5
61547535952 4

Question Number : 13 Question Id : 6154759220 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547535949, 1
£1547535950. 2
E1547535951. =2
61547535952 4

Question Number : 14 Question Id : 6154759221 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many National Parks and Wildlife Sancturies were there in India till March 20117

(1) 8 and 421 only (2) 10 and 75 only
(3) 75 and 421 only (4) 102 and 515 only
Options:

E1547535953. 1
51547535954, 2
51547535955, 3
61547535956, 4

Question Number : 14 Question Id : 6154759221 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) a8 &R 421 (2) Had 10 31 75
(3) IS 75 W 421 (4) FaA 102 3R 515
Options:

£1547535953. 1
E15475358954. 2
£1547535955. 3
51547535956, 4



Question Number : 15 Question Id : 6154759222 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s signified by Udaharana of Anumiana (Inference) in

Indian Logic?

(1) Statement of reason

(2) Proposition to be proved

(3} Conclusion proved

(4) Universal proposition along with an instance
Options:

E1547535957. 1
61547535958, 2
E1547535959. 3
51547535960, 4

Question Number : 15 Question Id : 6154759222 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547535957 1
E1547535958. 2
E1547535959 3
61547535960 4

Question Number : 16 Question Id : 6154759223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Devdatta 1z fat and he does not eat during the day. Therefore. Devadatta 1s eating during

the mght.

The above example. 1n classical Indian School of Logic. 15 a case of :

(1) Comparison (2) Implcation
(3) Perception (4) Verbal Testimony
Options:

E15475350961. 1
E1547535962. 2
B1547535963. 3
51547535964, 4

Question Number : 16 Question Id : 6154759223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
61547535961, 1
61547535962 2
£1547535963. 2
1547535964 4

Question Number : 17 Question Id : 6154759224 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As per the classical square of opposition, if ‘A’ proposition is given as true, then which one
of the following is correct?

(1) “E” proposition 1s false, “I” proposition is true and “O” proposition 1is false

(2) “E” proposition 1s true, “I” proposition is true and “O” proposition is true

(3) “E” proposition is false, “I” proposition is false and “O” proposition is true

(4) “E” proposition 1is true, “I” proposition is false and “O” proposition is false
Options:

51547535965, 1
61547535966, 2
E1547535967. 3



E1547535968. 4

Question Number : 17 Question Id : 6154759224 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547535965, 1

61547535966, 2

61547535367. 3

61547535968 4

Question Number : 18 Question Id : 6154759225 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following propositions is a contrary to “All poets are dreamers”?

(1) Some poets are dreamers (2) Some poets are not dreamers
(3) No poets are dreamers (4) No dreamers are poets
Options:

5154753596459, 1
61547535970, 2
61547535971, 3
E1547535972. 4

Question Number : 18 Question Id : 6154759225 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475359649, 1
E1547535970. 2
E15475358971. 3
E1547535972. 4

Question Number : 19 Question Id : 6154759226 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following is NOT a component of effective teaching?

(1) Questioning to check for the understanding of students
(2) Providing students with feedback

(3) Being flexible about how long it takes to learn

(4) Reactive mode of student’s behaviour
Options:
61547535373. 1
61547535974, 2
61547535975, 3
61547535976, 4

Question Number : 19 Question Id : 6154759226 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475359731
61547535974 2
£1547535975. 2
61547535976, 4

Question Number : 20 Question Id : 6154759227 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following factors doesn’t contribute to assessment bias?

(1) When language of the test and the tester is different from the languages of the

students

(2) Answers that support middle — class values

(3) If assessment procedures are flexible and diverse to make disadvantaged students
comfortable

(4) Objective test for assessing abstract reasoning of the student.

Options:
61547535977, 1
£15475354978. 2



E1547535979. 3
51547535980, 4

Question Number : 20 Question Id : 6154759227 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547535977, 1
61547535978 2
615475359793 2
615475359280 4

Question Number : 21 Question Id : 6154759228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following is NOT related to qualitative research?

(1) Thematic analysis (2) Case study
(3) Discourse analysis (4) Survey method
Options:

61547535951, 1
61547535982, 2
E1547535983. 3
E1547535984. 4

Question Number : 21 Question Id : 6154759228 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547535981, 1
61547535982, 2

61547535983, 3



E1547535984. 4

Question Number : 22 Question Id : 6154759229 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Social Sciences, a central issue is the question of whether the social world can be studied
using the methods of natural sciences. This statement refers to the issue of :

(1) Ontology (2) Axiology
(3) Epistemology (4) Etymology
Options:

61547535985, 1
61547535986, 2
E1547535987. 3
E1547535988. 4

Question Number : 22 Question Id : 6154759229 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547535985, 1
51547535986, 2
E1547535987. 3
61547535988, 4

Question Number : 23 Question Id : 6154759230 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following i1s not the outcome of grounded theory research?

(1) Concepts (2) Narrative
(3) Categories (4) Hypotheses
Options:

61547535959, 1
E1547535980. 2
E15475359391. 3
51547535982, 4

Question Number : 23 Question Id : 6154759230 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

o

STATIOMT

=

9\ ()

51547535989, 1
61547535930, 2
61547535931, 3
E15475359392. 4
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Question Number : 24 Question Id : 6154759231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the factors that do not contribute to the effectiveness of teaching from the options

given below :

(a)
(b)
(c)
(d)

Socio — economic background of Teacher
Teacher’s skill in pleasing the students
Teacher’s subject knowledge

Teacher’s personal contact with students

Choose the correct option :

(D)
(2)
(3)
(4)

Options:

(a), (c) and (d)
(b), (¢) and (d)
(a), (b) and (c)

). (b) and (d)

(a

515475359831
615475359394, 2
£1547535935. 3
E15475359596. 4

Question Number : 24 Question Id : 6154759231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a), (c) R (d) 2) (b), (c) AR (d)
(3)  (a), (b) 3 (c) (4) (a), (b) 3R (d)
Options:

£15475359393. 1
E15475359584. 2
E15475359385. 3
B15475359596. 4

Question Number : 25 Question Id : 6154759232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the alternative features from the following, which make open universities as

non-traditional universities :

(a) Innovative method of teaching and learning
(b) Innovative method of admission, curriculum and evaluation
(c) Modern communication techniques

(d) Teacher’s friendly approaches

Select the correct option :

(1) (b), (c) and (d) only
(2)  (a), (b) and (c) only
(3)  (a), (c) and (d) only
4)  (a), (b) and (d) only

Options:
51547535997, 1



E1547535998. 2
51547535985, 3
61547536000, 4

Question Number : 25 Question Id : 6154759232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(a)  Toreqor 3R MM % TSR GEF

(b)  TE, TETFH HAR GeATHA * AATER] TIh
(c) S HUUT THATH
(d)  Toerri =1 fomEd =g9En

[ G

TE faehed g

(1) =@ (b), (c) 3W (d) (2) A (a), (b) 3R (c)
(3) A (a), (c) R (d) (4) =EA (a), (b) IR (d)
Options:

E15475359587. 1
E1547535998. 2
515475359599, 3
61547536000, 4

Question Number : 26 Question Id : 6154759233 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Regarding E-governance. which of the following statements 1s / are correct?

(a) Decreasing transparency 1s an ICT enabled advantage of E-Governance.

(h) E-governance 1= related to the implementation of ICT 1n the government processes and
functions.

(c) Common Service Centres (CSCs) help 1n providing and using E-Governance related
services.

Choose the correct option :

(1) (a). (b). and (c)
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a) and (b) only
Options:
61547536001,
E154753E00Z,
BE1547 536003
61547536004,

[ N

Question Number : 26 Question Id : 6154759233 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(a)  BEHEM THEREl 3-3ME9 o1 U 3 |1 I JH1Ud oY 2

(b)  E-TIMEA F HEY HLEE UHAIST AT FE G AR | S F TR ¥ HEeg 7
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(1)  (a), (b) 3R (c) (2) Faa (b) K (c)
(3)  FaH (a) HN (c) (4) FAA (a) AR (b)
Options:

61547536001, 1
61547536002, 2



E1547536003. 3
51547536004, 4

Question Number : 27 Question Id : 6154759234 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements 1s / are correct?

(a) Software 13 loaded into secondary storage from RAM and 1s then executed hy

the CPU.

(b) A search engine 1= a software svstem that 1s designed to search for information on

the www.

Choose the correct option :

(1) (a) only
(2) (b) only
(3) Both (a) and (b)

(4) Neither (a) nor (b)
Options:
61547536005, 1
61547536006, 2
61547536007, 3
61547526008, 4

Question Number : 27 Question Id : 6154759234 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547536005, 1
1547536006, 2
E1547526007. 2
61547536008, 4

Question Number : 28 Question Id : 6154759235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below is a question followed by three statements. Identify the statements that are

necessary to answer the question.

Question : What is the percentage profit gained by a vendor when he sells an article?

Statements :
(a) He gives a 10% discount on the marked price.
(b) He would have earned 25% profit if he did not give any discount.

(c) The cost price of the article 15 Rs.8000.

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c¢)
Options:
61547536009, 1
61547536010 2
61547536011, 2
61547536012 4

Question Number : 28 Question Id : 6154759235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =3 (a) R (b) (2) #aa (b) 3 (c)
(3) A (a) W (c) 4) (a), (b) I (c)
Options:

61547536009, 1
61547536010, 2
61547526011, =
E1547536012. 4

Question Number : 29 Question Id : 6154759236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements are true about a fuel cell?

(a) It 1s a device that uses electrochemical reactions to produce electric current
(b) It consists of a positive electrode and a negative electrode separated by an electrolyte
(c) Just like batteries 1t needs to be recharged with an electric current

Choose the correct option from those given below :

(1) (a) and (b) only
(2)  (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c)

Options:
154753601321
61547536014 2



E1547536015. 3
61547536016, 4

Question Number : 29 Question Id : 6154759236 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) e (a) 3 (b)
(2) et (b) FH7 (c)
(3)  =ad (a) 3 (c)

4)  (a). (b) I (c)
Options:
615475360131
61547536014, 2
61547526015 =
61547526016, 4

Question Number : 30 Question Id : 6154759237 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following statements with reference to the proposition "Some girls are not
students”

(a) Subject term students 1z distributed

(b) Predicate term girls 1s undistributed

(c) Predicate term students 1z distributed

(d) Subject term girls 1s undistributed

Choose the correct option from those given below:

(1) Only (a) and (c) are correct
(2) Only (b) and (c) are correct
(3) Only (a) and (d) are correct

(4) Only (c) and (d) are correct
Options:
615475360171
1547536018 2
E1547536019 2
61547536020 4

Question Number : 30 Question Id : 6154759237 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3) A (a) 3R (d) 7@l 7 (4) FEHA (c) AW (d) TET B
Options:

E1547536017. 1
61547536018, 2
615475360149, 3
E1547536020. 4

Question Number : 31 Question Id : 6154759238 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose two factors that do NOT affect the academic performance of students adversely :

(a) Low zelf — efficacy belief
(b) Belief in God
(c) Indifferent attitude towards politics

(d) Teacher's low expectation from students

Choose the correct option :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (c) and (d) only

(4) (b) and (d) only

Options:

61547536021, 1
61547536022, 2
61547536022 2
E1547526024 4

Question Number : 31 Question Id : 6154759238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547536021, 1
E1547532E022. 2
615475326022 5
61547536024, 4

Question Number : 32 Question Id : 6154759239 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the two statements from the following statements are correct?

(a) Sampling — related error 1z subsumed under the category non-sampling error

(b} Sampling error doesn’t occur in multi-stage cluster samphng

(c) Inaccurate sampling frame and non-response are examples of sampling — related
e1Tor.

(d) There 1= an inverse relation between heterogeneity of population and samplhing error.

Choose the correct option :

(1) (a) and (c) only
(2) (a) and (d) only
(3) (b) and (d) only

(4) (b) and (c) only
Options:
£1547536025. 1
61547536026, 2
E1547536027. 3
E1547536028. 4

Question Number : 32 Question Id : 6154759239 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547536025, 1
1547536026 2
E1547532E027. 2
61547536028, 4

Question Number : 33 Question Id : 6154759240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following historic places with their distingumishing discipline of learming

Last I List IT
Historic places Discipline
(a) Takshila (1) Astronomy
(b) Ujjain (1) Buddhism
() Sarnath (m) Art. Architecture and Painting
(d) Ajanta (1v) Medicine

Choose the correct option from those given below :

(1) (a)-(1). (b)-(11). (c)-(11). (d)-(1v)
(2) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)

Options:

51547536029, 1

51547536030, 2

61547536021, 3
E1547536032. 4

Question Number : 33 Question Id : 6154759240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 @-@), (b)-GD), (0)-Gid), (d)-(iv)
@ (@-GD), (b)-Q), (0-Gv), (d)-{i)
(3 (@-@), (b)-Gv), (¢)-(1), (d)-@
@ @-w), (b)-G), (e)-(1), (d)-(iiD)

Options:

61547536029, 1
E154752E020. 2
61547526021, 5
61547536032 4

Question Number : 34 Question Id : 6154759241 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following soil orders with their descriptions

(a) Histosols (1)
(b) Andisols (1)
(c) Gelisols (111)
(d) Aridsols (1v)

Choose the correct option from those given below :

—

) (a)-(1v), (b)-Q), (c)-(11), (d)-(111)
2) (a)-(11), (b)-(iv), (¢)-(1), (d)-(111)
3) (a)-(@), (b)-(11), (c)-(111), (d)-(v)
(4) (a)-(1), (b)-(11), (c)-(1v), (d)-(i11)

Options:

61547536033, 1
61547536034, 2
61547536035 2
1547536036 4

(

_—

Soil order that includes soils formed on
volcanic ash

Soil order of cold regions including
soils underlain by permafrost

Soil order consisting of soils of dry
climates

Soil order consisting of soils with a
thick upper layer of organic matter.

Question Number : 34 Question Id : 6154759241 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(L) (a)-(v), (b)-(1), (¢)-(11), (d)-(111)
(2) (a)-(11), (b)-(1v), (c)-(1), (d)-(111)
(3) (a)-(1), (b)-(i1), (c)-(ii1), (d)-(iv)
(4) (a)-(1), (b)-(i1), (¢)-(iv), (d)-(111)

Options:

61547536033, 1

61547536034, 2

61547536035 2

1547536036 4
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Question Number : 35 Question Id : 6154759242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Match List — I with List - IT

List I
(Digital Initative)
(a) UMANG
(by BHIM
(c) eBiz
(d) SWAYAM

Choose the correct option :

(1) (a)-(i1), (b)-(1), (c)-(111), (d)-(av)
(2) (a)-(111), (b)-(11), (¢)-(iv), (d)-@)
(3) (a)-(v), (b)-(ii), (¢)-(1), (d)-(i1)
4) (a)-(1), (b)-(v), (c)-(11), (d)-(111)

@)
(i1)
(111)

(iv)

List II
(Purpose)
G2B Services
Learning platform
Unified payment interface

Single point of access to all

governme nt services.



Options:

61547536037, 1
61547536038 2
E1547526029. 2
615475236040, 4

Question Number : 35 Question Id : 6154759242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) 3HA G) S 2 & FET
(b) M (i) AT TeeEH
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(1) (a)-(i1), (b)-(1), (¢)-(ii1), (d)-(1v)
(2) (a)-(iii), (b)-(ii), (¢)-(iv), (d)-G)
(3) (a)-(iv), (b)-(i11), (¢)-(1), (d)-(11)
(4) (a)-(1), (b)-(iv), (¢)-(11), (d)-(111)

Options:

61547536037, 1

61547536038, 2

61547536039, 3
61547526040, 4

Question Number : 36 Question Id : 6154759243 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match correctly the items of Column I with the items of column II

Column I Column II
(a) Ontology (1) Ideographic
(b) Epistemology (i1) Realism
(¢) Methodolgy (111) Survey
(d) Method (1v) Positivism

Choose the correct option :

(1) (2)-(11), (b)-(iv), (c)-(11), (d)-@)
2) (2)-(11), (b)-(1), (c)-(111), (d)-(1v)
(3) (a)-(w), (b)-(1), (c)-(1), (d)-(111)
4) (a)-(11), (b)-(1v), (¢)-(@), (d)-(111)

Options:
61547536041 1

E1547536042. 2
E1547536043. 3
51547536044, 4

Question Number : 36 Question Id : 6154759243 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FITH-TF Tl FHIAH-3 T AT hITIT -

Fiaq - T Fieq - 2
(a) EETHETE (i) et
(b)  SHHEET (i) FEAEFEAER
(c) Tomelt fafer (iii) FEET
(d) T (iv) HHNICHFAER

&l fashoT T

(1) (a)-(i1), (b)-(iv), (¢)-(ii1), (d)-(1)
(2) (a)-(11), (b)-(1), (c)-(111), (d)-(iv)
(3) (a)-(1v), (b)-(11), (¢)-(), (d)-(iii)
(4) (a)-(11), (b)-(iv), (¢)-(1), (d)-(i11)
Options:

E1547536041. 1
61547536042 2



E1547536043. 3
51547536044, 4

Question Number : 37 Question Id : 6154759244 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the advantage of feedback 1n the process of communication. from the following :

(1) It 1s beneficial in understanding of the subject matter
(2) It diagnoses the defects in receiver
(3) It clarifies the communication
(4) It explores the defects in receiver
Options:

61547536045 1
61547536048, 2
E1547536047. 3
E1547536048. 4

Question Number : 37 Question Id : 6154759244 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547536045 1
61547536046, 2
61547536047, 3
E15475360458. 4

Question Number : 38 Question Id : 6154759245 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following values with their distinguishing functions :

List I List IT
(a) Sacrifice (1 Working in a stipulated time
(b)  Sincerity (11) Confinement of individual mind on
action
(c) Self control (1) Showing love and affection
(d) Altruism (iv) Helping without selfish motives

Choose the correct option from those given below :

(1) (a)-(1), (b)-(), (¢)-(iv), (d)-(111)
(2) (a)-(1v), (b)-(1), (e)-(i1), (d)-(111)

(3) )-(111), (b)-(1v), (c)-(1). (d)-(11)
4) (a)-(1), (b)-(111), (c)-(11), (d)-(1v)
Options:

E1547536045. 1
51547536050, 2
51547536051, 3
61547536052, 4

Question Number : 38 Question Id : 6154759245 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 (2)-G), (b)-(). (c)-(v), (d)-(ii1)
(2) (a)-(iv), (b)-(1), (e)-(i1), (d)-(ii1)
(3) (a)-(iii), (b)-(iv), (¢)-(1), (d)-(i1)
(4) (a)-(1), (b)-(Gid), (¢)-(11), (d)-Av)

Options:

61547536049, 1
61547536050 2
61547536051 =2
E154752E052. 4

Question Number : 39 Question Id : 6154759246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the option that lists components for a cyberspace address (URL) in the correct order
from beginning to end?

(1) Protocol, domain name of the host, path / file
(2) Path / file, protocol, domain name of the host
(3) Protocol, path /file, domain name of the host
(4) Domain name of the host, protocol, path / file

Options:

1547536053 1

1547536054, 2

61547536055 2

51547536056 4

Question Number : 39 Question Id : 6154759246 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(2) MY /HTEA, WA, B2 o SHF Sl 99
(3) TR, MY /HEA, BES F TEA 1 A
(4) B T THA T A, WIS, TS/ EEA

Options:

61547536053, 1
61547536054 2
61547536055 2
E1547526056. 4

Question Number : 40 Question Id : 6154759247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following sequence represents the correct order of soil particles arranged in
terms of particle size from the smallest to the largest?

(1) Gravel, Silt, Clay, Sand (2) Silt, Clay, Gravel, Sand
(3) Clay, Silt, Sand, Gravel (4) Silt, Clay, Sand, Gravel
Options:

E1547536057.
E1547536058.

E1547536059,
51547536080,

[ N S

Question Number : 40 Question Id : 6154759247 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(2) e, L, ET STe]

(3 e, T, 9w, w9

(4) T, e, sTe], S,

Options:

615475368057,
615475368058,
£15475368059.
E15475368060,

[ N

Question Number : 41 Question Id : 6154759248 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the steps of research in the sequence in which they are presented in the thesis

(1) Discussion, Review of Literature, Results, Conceptual Framework, Problem

(2) Review of Literature, Problem, Conceptual Framework, Result, Discussion

(3) Problem, Review of Literature, Conceptual Framework, Results, Discussion

(4) Problem, Review of Literature, Conceptual Framework, Results, Discussion
Options:

E1547536061. 1
E1547536062. 2
B1547536063. 3
61547536064, 4

Question Number : 41 Question Id : 6154759248 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IMI-FTHT 1 MG-Te=4 § T&qq Fd T 69 T T a1 S 2 ¢

(1)  Oi==l, |rfecd =hi TEieT, TRoTE, TFEWo =1, TEE
(2)  TECT <hi THIETT, TS, FAFENON 1, TR, it
(3)  THEHI, |ifecd hi FHIeT, SFUWON @M=, T
(4)  THE, GTEcd i T, FFERON =, T

Options:

1547536061, 1
E154752E0E82. 2
61547536062 o
61547536064, 4

Question Number : 42 Question Id : 6154759249 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one 1s labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Through on-line teaching a large number of students can be taught by very

competent faculty.

Reason (R) : On-line teaching helps students in developing critical thinking more than

the Off —line teaching can do.

In the light of the above two statements choose the correct option :

(1)
(2)
(3)
(4)

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A)
(A) 1s true, but (R) 1s false

(A) 1s false, but (R) 1s true

61547536085, 1
61547536066, 2
E1547536067. 3
E154753E60EE. 4

Question Number : 42 Question Id : 6154759249 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547536065, 1

61547536066, 2

15475360687, 2

615475326068, 4

Question Number : 43 Question Id : 6154759250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements - one is labeled as Assertion (A) and the other 1s labeled as

Reason (R):
Assertion (A) : A blog is a form of social media.
Reason (R) : A blog allows anyone to communicate to a public audience.

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are ture and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) is false

4) (A) 1s false, but (R) 1s true



Options:

61547536069, 1
1547536070 2
15475326071, 2
1547536072 4

Question Number : 43 Question Id : 6154759250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547536069, 1
61547536070 2
61547536071, 2
E1547536072. 4

Question Number : 44 Question Id : 6154759251 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Skill development is a key feature in every individual’s life.
Reason (R) : An individual who wants to get employed, needs to possess good education
only.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) is true
Options:
615475360731
E1547536074. 2
61547536075 2
61547536076 4

Question Number : 44 Question Id : 6154759251 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547536073 1

E1547536074. 2



E1547536075. 3
B1547536076. 4

Question Number : 45 Question Id : 6154759252 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Government of India established higher educational statutory bodies to

ensure quality of education.

Reason (R) : There are some educational institutions in India which do not provide

quality education.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:

15475360771

1547536078 2

E154753E079. 2

61547536080 4

Question Number : 45 Question Id : 6154759252 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4) (AT B WG, (R) TR R
Options:
61547536077, 1
61547536078, 2
61547536079 2
15475260280 4

Sub-Section Number: 3
Sub-Section 1d: 615475401
Question Shuffling Allowed : Yes

Question Id : 6154759253 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension



Read the following passage and answer questions which follow.

Eventhough globalisation is one of the most discussed topics in the contemporary world. it 1s
not altogether a well defined concept. A multitude of global interactions are put under the
broad heading of globalisation. varving from the expansion of cultural and scientific
influences across borders to the enlargement of economic and business relations throughout
the world. A wholesale rejection of globalisation would not only go against global business, 1t
would also cut out movements of 1deas. understanding. and knowledge that can help all the
people of the world. including the most disadvantaged members of the world population. A
comprehensive rejection of globalisation can thus be powerfully counterproductive. There 15 a
strong need to separate out the different guestions that appear merged together in the
rhetoric of the antiglobalisation protests. The globahsation of knowledge deserves a
particularly high profile recognition. despite all the good things that can be rightly said
about the importance of "Local knowledge”.

Globalisation 1s often seen. both 1n journalistic discussions and in remarkably many
academic writings. as a process of westernization. Indeed. =ome who take an upbeat niew of
the phenomenon even sees 1t as a contribution of Western civilization to the world.

Sub questions

Question Number : 46 Question Id : 6154759254 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the passage, which one of the following is not a well defined concept?
(1) Multiculturalism

(2) Identity

(3) Globalisation

(4) Local Knowledge

Options:

61547536051, 1
61547536082, 2
61547536082, o
61547536054, 4

Question Number : 47 Question Id : 6154759255 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the passage, which one of the following is counter productive?
(1) Comprehensive support to globalisation

(2) Wholesale rejection of globalisation

(3) Comprehensive rejection of anti — globalisation protests

(4) Recognition of local knowledge systems

Options:



E1547536085. 1
61547536086, 2
B1547536087. 3
615475360588, 4

Question Number : 48 Question Id : 6154759256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage, globalisation i1s perceived often by media and academia as :

(1) Supporting local knowledge systems
(2) Detrimental to local knowledge systems
(3) A process of Westernisation

(4) A process of facilitating global bussiness
Options:
E1547536059 1
61547536090 2
61547536031 =
61547536032 4

Question Number : 49 Question Id : 6154759257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The attempt of the author in the passage is :

(1) Unconditioned advocacy of globalisation

(2) Unconditioned rejection of globalisation

(3) Unconditioned rejection of local knowledge systems
(4) Unbiased evaluation of globalisation

Options:

615475360393, 1
61547536034, 2
61547526035, 3
E1547536036. 4

Question Number : 50 Question Id : 6154759258 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



As per the passage, a wholesale rejection of globalisation would result in affecting

(a) Global businesses
(b) Movement of Ideas

(c) Local knowledge systems

Choose the correct answer from the options given below :

(1)  (a) and (b) only
(2)  (a) and (c) only
(3) () and (b) only
(4) (a), (b) and (c)

Options:

61547536097, 1
61547536098, 2
61547536099 2
61547536100 4

Question Id : 6154759253 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension
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Sub questions

Question Number : 46 Question Id : 6154759254 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1)  wg-H&Fiaar (2) TEEH
(3)  STEE (4) TIEE A

Options:

1547536081, 1
E154752E082. 2
61547536082 o
61547536084, 4

Question Number : 47 Question Id : 6154759255 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TEE F AN AElAlEd J | wE w2

(3)  dvdrmo-Tandi ugeiE f = AEHG (4)  THE T Ggiedl S e
Options:

15475360585 1

C1547536086. 2

61547536087 2

61547536080 4

Question Number : 48 Question Id : 6154759256 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TEITST % STIAR ITAH i HITSaT ST SThRgah! 30 | &9 | <@ Sl 87

(1)  FYEE 4 TgM =1 F9949 (2) TYHE FH TG * [ BTHEHES
(3)  TTTETSER T U WiE (4) Tava =mm F:1 g8 999 F TF 9hE
Options:

E1547536089. 1
61547536080, 2
61547536031, 3
61547536032, 4

Question Number : 49 Question Id : 6154759257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547536093, 1
61547536094 2
E154752E095 =2
61547536096, 4

Question Number : 50 Question Id : 6154759258 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4  (a), (b) I ()
Options:
L1547EZe097. 1
E1E4F7EZED9E. 2
L1547E3E099, 2
E1547E35100. 4

PART 11 Maithili

Section Id : 615475124

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Pane: Yes

Group All Questions: No
Sub-Section Number: 1

Sub-Section Id: 615475402



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154759259 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TS ATEcaF AT A T A3

=

(1) ERIRE (2) FOEH
(3)  HFrhieHE (4) TETERTTOR
Options:

515475236101, 1
61547536102 2
61547536103, 3
61547526104, 4

Question Number : 51 Question Id : 6154759259 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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=

(1) =g (2) FoE
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Options:

£1547536101. 1
E1547536102. 2
E1547536103. 3
B1547536104. 4

Question Number : 52 Question Id : 6154759260 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘o T e S

(1) == (2) STHITE
(3)  fagamfa (4) =
Options:

E1547536105. 1
E1547536106. 2
61547536107, 3
61547536108, 4

Question Number : 52 Question Id : 6154759260 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



EokciciRiceal bt

(1) a7zq (2) =T
(3)  fagEmfa (4) @A

Options:

£1547536105. 1
61547536106, 2
61547536107, 2
61547536108, 4

Question Number : 53 Question Id : 6154759261 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A Hoa=Td § 79 BTN QAT e

D e 2) o e |
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Options:

E1547536109. 1
61547536110, 2
61547536111, 3
E154753611%. 4

Question Number : 53 Question Id : 6154759261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

O A= § A A -TEE ST S

(1) faurEm " () TR el |

@ wwmw g (4) ‘T’ J
Options:

615475361091
61547536110, 2
E1547536111. 3
E1547536112. 4

Question Number : 54 Question Id : 6154759262 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Aot Oieea T & TEEE SoE:
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(3) Hiw @M (4) el weeg oA
Options:

E1547536113. 1
E1547536114. 2



E1547536115. 3
61547536116, 4

Question Number : 54 Question Id : 6154759262 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Hfi o F OEIET aeE:

(1) FEEE (2) THFIY =T
(3) qrH] &5 210 (4) A S@ag A
Options:

E1547536113. 1
61547536114, 2
61547536115 3
61547526116 4

Question Number : 55 Question Id : 6154759263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“eft 1f 79 W B wieTe

(1) T (2) TiE=E
(3)  =HUH (4) =™ =
Options:
15475361171
1547526118 2

61547536115, 3
61547536120, 4

Question Number : 55 Question Id : 6154759263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E1547536117. 1
61547536115 2

61547536115, 3
61547536120, 4



Question Number : 56 Question Id : 6154759264 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  9gT% 3IE (2) TTFAw AEE
(3) q‘|€i_.-|':[ P IERE (4) IEEDIL
Options:

E15475368121. 1
E1547536122. 2
BE1547536123. 3
61547536124, 4

Question Number : 56 Question Id : 6154759264 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) 9T IF (2) TTFAw AEE
(3) ‘:l'lrj_"ﬁ gy (4) eI
Options:

61547536121, 1
G1547536122 2
E1547536123. 3
E1547536124. 4

Question Number : 57 Question Id : 6154759265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) zfmEs = @ e
Options:

E1547536125. 1
BE1547536126. 2
B1547536127. 3
E1547536128. 4

Question Number : 57 Question Id : 6154759265 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547536125. 1
BE1547536126. 2
B1547536127. 3
E1547536128. 4

Question Number : 58 Question Id : 6154759266 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(3) I9TETT (4) THEAE
Options:

6154752361291
E1547536120. 2
E1547536121. 3
BE1547536132. 4

Question Number : 58 Question Id : 6154759266 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

mmﬁﬁ&l :

(1)  T=Feuas (2) F A
(3) IATEAT (4) TEiEEE
Options:

6154753612591
61547536120, 2
61547526131, 3
E1547536132. 4

Question Number : 59 Question Id : 6154759267 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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E1547536134. 2
61547536135 3
61547536136, 4

Question Number : 59 Question Id : 6154759267 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

[ ~ 1 - .
TTHeFF AT HiEA o S

1)  fas wwE (2) 329 WY fag ‘St
(3) et T (4) W T W
Options:

£1547536133. 1
E15475368124. 2
E1547536135. 3
B1547536136. 4

Question Number : 60 Question Id : 6154759268 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

i . o~
a:J‘QFJE;-qu -t]":i;” ‘F;ﬁ"'.' oo

1 T (2) THIE
(3)  =Afafvm (4) =g
Options:

E1547536137. 1
E1547536138. 2
51547536135, 3
61547536140, 4

Question Number : 60 Question Id : 6154759268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= o por
l=ioAYid=n Yidnl smla

1 =T (2) T
(3) AR (4) TfE=EE
Options:

61547536137, 1
61547536138, 2
61547526139, 3
E1547536140. 4

Question Number : 61 Question Id : 6154759269 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1)  vETg Ay e (2) Tifa= =
(3)  T=WY = (4) TorET= o
Options:

E1547536141. 1
E1547536142. 2
B1547536143. 3
61547536144, 4

Question Number : 61 Question Id : 6154759269 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e F w5 By

(1)  vEY AeEy by (2) Tife= =
(3) Ay I (4) ToEa=T 3
Options:

515475361411
61547536142 2
E1547536143. 3
E1547536144. 4

Question Number : 62 Question Id : 6154759270 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

" da AT faeg T,
T e i was |

(1)  AfqamEEa (2)  IeuE
(3) 39 (4) =T
Options:

61547536145, 1

61547536146 2

61547526147, 3
E15475361458. 4

Question Number : 62 Question Id : 6154759270 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) =t (2) IeuE
(3) 39 (4) =T
Options:

61547536145, 1

61547536146 2

61547526147, 3
E15475361458. 4

Question Number : 63 Question Id : 6154759271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

"ot I A A gaT HHE A,
fafem afgmet =+ fagm anf =nf =17

(1) T @ fafmers
(3) @F=® (4) Torfer-ars

Options:

51547536149, 1
61547536150 2
61547536151, 2
61547536152 4

Question Number : 63 Question Id : 6154759271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

oot T FEE T g HEE A,
fatas afemt ==t faem et =iz )7

(1) P @) fafyem
(3) (4) TrfeF-ar

Options:

61547536149, 1
61547536150 2
61547536151, 2
61547536152 4

Question Number : 64 Question Id : 6154759272 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) =T &% 39 @) T
(3) =g fau (4) AT T
Options:

515475361531
61547536154, 2
61547526155, 3
E1547536156. 4

Question Number : 64 Question Id : 6154759272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) = & 39 (2) T W EE
(3) w2 oy (4) &R AT
Options:

515475361531
61547536154, 2
61547526155, 3
E1547536156. 4

Question Number : 65 Question Id : 6154759273 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ATt UgrEw i A ' {9

(1) A= A= @) S
& = (4) afed qeE
Options:

61547536157, 1
61547536158, 2
E1547536159. 3
E1547536160. 4

Question Number : 65 Question Id : 6154759273 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Taeamafa ygEee A | 19

(1) == A= @) e
Options:

61547536157, 1
61547536158, 2



E1547536159. 3
61547536160, 4

Question Number : 66 Question Id : 6154759274 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

TFS GISHAE TR (o 319

(1)  ifa= = (2) =T fau
(3) = 3T (4) To2TU T =
Options:

E1547536161. 1
E1547536162. 2
61547536163, 3
61547536164, 4

Question Number : 66 Question Id : 6154759274 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

e T A N B E TR T B -

(1) e @) TR fau
@) e A () Bhpeas o
Options:

E1547536161. 1
61547536162, 2
61547536163, 3
61547536164, 4

Question Number : 67 Question Id : 6154759275 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

‘ | R r ¥ ~
TEHEEG H T T A

(1) 9= (2) wHeE
(3) Odis (4) H3IEE
Options:

E1547536165. 1
E1547536166. 2
B15475368167. 3
61547536168, 4

Question Number : 67 Question Id : 6154759275 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Yes

Yes

Yes

Yes



‘T ® wE A i

(1) U= (2) #H=E
(3) Odis (4) =31z
Options:

E1547536165. 1
615475368166, 2
E1547536167. 3
61547536168, 4

Question Number : 68 Question Id : 6154759276 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) ==w=iH (2) wIEE T H
(3) ®wEETIH (4) wEEiH
Options:

E154753616%9. 1
61547536170, 2
61547536171, 3
E1547536172. 4

Question Number : 68 Question Id : 6154759276 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

.,-[ b | ]-E_p"ﬂ‘ Ia:q 3 _\ﬁ:lrl':_) H

(3) wEEETH (4) wE=ETH
Options:

E154753616%9. 1
B1547536170. 2
61547536171, 3
E1547536172. 4

Question Number : 69 Question Id : 6154759277 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“FHAEE F =T 3

g+ (2) =ygd
(3) = (4) o
Options:

515475361731
61547536174, 2



E1547536175. 3
B1547536176. 4

Question Number : 69 Question Id : 6154759277 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AP F T B

(1) qu (2) =Yy
(3) =N (4) T
Options:

E1547536173. 1
B1547536174. 2
61547536175 3
E1547536176. 4

Question Number : 70 Question Id : 6154759278 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qieg W AR wa e

(1) 1909 (2) 1910
(3) 1911 (4) 1912
Options:

BE1547536177. 1
61547536178, 2
61547536179, 3
61547536180, 4

Question Number : 70 Question Id : 6154759278 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T 1 gEA F S e

(1) 1909 (2) 1910
(3) 1911 4) 1912
Options:

6154753681771
61547536178, 2
61547536179, 3
61547526180, 4

Question Number : 71 Question Id : 6154759279 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



HreTy = =T T

(1 stk (2) fa=-m=m=
(3)  Fiaar u= (4) i FYETS
Options:

61547536181, 1
E1547536182. 2
E15475368183. 3
E1547536184. 4

Question Number : 71 Question Id : 6154759279 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

[ F =
YO I =91 196 :

(1)  sfed (2) fa=-T=m=
(3) e uF (4) Faa FEAET
Options:

E1547526181. 1
61547526182, 2
E1547536183. 3
E1547536184. 4

Question Number : 72 Question Id : 6154759280 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
|1 o1 F = T _;'Tj I 1979h:

(1)  T=omEs (2) 9HEF
(3) Lk (4) A= ST
Options:

E1547536185. 1
B1547536186. 2
B1547536187. 3
61547536188, 4

Question Number : 72 Question Id : 6154759280 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
o7 T G0 I T _;'T-Id~ I 19

(1) (2) wmEF
3 == (4) A9 =iEaE
Options:

51547536185, 1
61547536186, 2



E1547536187. 3
61547536188, 4

Question Number : 73 Question Id : 6154759281 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘T T B

(1) HTETH (2) H=EEE T
(3)  Hiamm = (4) wETE e aE
Options:

BE1547536189. 1
615475361380, 2
615475361391, 3
61547526132, 4

Question Number : 73 Question Id : 6154759281 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

& I | - =,
qFFI-avH  Toolad 319

(1) Y (2) qreETETS 2T
8) HEmm 4) Yavw fEE ga
Options:

E154753618%9. 1
E15475361380. 2
E15475361391. 3
B15475361392. 4

Question Number : 74 Question Id : 6154759282 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  <vsl (2) HATHETTA
(3) EREC (4) TEvam
Options:

6154753613921
615475261394, 2
E15475361395. 3
E1547536196. 4

Question Number : 74 Question Id : 6154759282 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ey s

.__.II o —-F':'.l EAER q._ll._'::'q - ‘:|-. 3 ':'l;r.:-;).hl H

(1) =o€ (2) AT
(3) = (4) Favaamy
Options:

B1547536193. 1
51547536154, 2
61547536135 3
615475261396 4

Question Number : 75 Question Id : 6154759283 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT THTHF FEH Fad BN

(1)  gfs@rs STy (2) ==z
iy B (4) @IS
Options:

615475361597, 1
615475361398, 2
£1547536199. 3
E1547536200. 4

Question Number : 75 Question Id : 6154759283 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i . ’ ’ 5 o
199 THICHS Fedq Fed D19 -

(1)  dfsms F=g (2) ==z
iy B (4) wTHEaE
Options:

61547536197, 1
615475361398, 2
E154753619%5. 3
E1547536200. 4

Question Number : 76 Question Id : 6154759284 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) ERM G CIGET (2) MRS
(3)  HEFdEEF (4) wT=AFEET
Options:

E1547536201. 1
E1547536202. 2



E1547536203. 3
61547536204, 4

Question Number : 76 Question Id : 6154759284 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

WEuIE TEHOITF TaTE B

(1)  ScqfivEmE® (2) EREES
(3)  HiFdaEH (4) wAT=AFERE
Options:

E1547536201. 1
E1547536202. 2
61547536203, 3
61547536204, 4

Question Number : 77 Question Id : 6154759285 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT FIT D

(1) “fifeaTerT e (2) iAW

(3)  ArTeE Fe (4) Al Fe
Options:

61547536205, 1
E1547536206. 2
E1547536207. 3
51547536208, 4

Question Number : 77 Question Id : 6154759285 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) it Fere (2) TfaareaT e
(3) ffeTeaT e (4) afFrOe T
Options:

E1547536205. 1
E1547536206. 2
E1547536207. 3
B1547536208. 4

Question Number : 78 Question Id : 6154759286 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



At fors Mivenw's afafe 3= a9 o

(1) = (2) fogar
(3) i (4) warie=
Options:

E1547536209. 1
E1547536210. 2
E1547536211. 3
B1547536212. 4

Question Number : 78 Question Id : 6154759286 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

nieF s Tiuerm = et = am dF

(1) = mo @2) Taga
(3) @ (4) TERA
Options:

E1547536209. 1
E1547536210. 2
61547536211, 3
G1547536212. 4

Question Number : 79 Question Id : 6154759287 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AfSrdT gauT =% AN JEd 319 -

(1) =g (2) e o
(3) T T (4) FaFEm=
Options:

615475362131
61547536214, 2
E1547536215. 3
BE1547536216. 4

Question Number : 79 Question Id : 6154759287 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T Ta9—= o= OHE 720 209 ¢

(1) ™I (2) Mg @
(3) T T (4) S
Options:

E1547536213. 1



E1547536214. 2
61547536215 3
61547536216, 4

Question Number : 80 Question Id : 6154759288 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TYg I TR Al T T SO

1) T s Fgew (2) e EtEE W
(3) ‘Tl W (4) ‘ITTE THE I W
Options:

61547536217, 1
615475362158, 2
E1547536219. 3
E1547536220. 4

Question Number : 80 Question Id : 6154759288 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
q__‘qa _':,:n ;Il rr:E:q _:!':Iq- '-'J_IE‘IF IT 3] F:f__l;: :§i:r oo

1) THgEs: FEgew 2) e atEE W
(3) ‘HlfHE W (4) ‘FTfE TEE I W

Options:

61547536217, 1
61547536218 2
61547536219 2
E1547526220. 4

Question Number : 81 Question Id : 6154759289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR % AT B0

(1) TF%as (2) wTERTST vETH

(3) = T RO 4) = Fm Ee
Options:

BE15475368221. 1
B1547536222. 2
BE1547536223. 3
B1547536224. 4

Question Number : 81 Question Id : 6154759289 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



" % T S

(1)  TFFns (2) TS vETH
(3)  FretET @ TR (4) =71 o =@
Options:

E1547536221. 1
B1547536222. 2
B1547556223. 3
G1547536224. 4

Question Number : 82 Question Id : 6154759290 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) ‘wEw W 2) ‘T w
(3 TmwE W 4) ‘TaeEmE W
Options:

615475362251
G1547536226. 2
E1547536227. 3
E1547536228. 4

Question Number : 82 Question Id : 6154759290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

() aEE W @ ‘TEm w
(3) Tmw W @) ‘feramE W
Options:

61547536225, 1
E1547536226. 2
B1547536227. 3
B1547536228. 4

Question Number : 83 Question Id : 6154759291 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘afa = Taar fae

(1) ETN| (2) =™
(3) EEL] (4)  =RreaT
Options:

BE1547536229. 1
B1547536230. 2



E1547536231. 3
B1547536232. 4

Question Number : 83 Question Id : 6154759291 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“gfer = e fae

(1) AT (2) =M
(3) (EEE] (4) =il
Options:

BE1547536229. 1
B1547536230. 2
61547536231, 3
E154753623%. 4

Question Number : 84 Question Id : 6154759292 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) =H-3 (2) HTEEdE
(3)  wd-TfEE (4) 9T TiEeA
Options:

BE1547536233. 1
B1547536234. 2
61547536235 3
E1547536236. 4

Question Number : 84 Question Id : 6154759292 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

. i 1 Fa
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(1) =aH-3dE (2) At
(3)  wd-TREE (4) 9T TiEeA
Options:

61547536233, 1
61547536234, 2
E1547536235. 3
615475362356, 4

Question Number : 85 Question Id : 6154759293 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) B G (2) Hied
(3) TH @) g

Options:

61547536237, 1
61547536238 2
61547536239 2
61547536240 4

Question Number : 85 Question Id : 6154759293 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e

(1) ERIIGES (2) =EH
(3) TH @) 9w
Options:

E15475368237. 1
E1547536238. 2
B1547536235. 3
61547536240, 4

Question Number : 86 Question Id : 6154759294 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) eI (2) Trgam™
(3)  FEgm (4) T
Options:

E1547536241. 1
B1547536242 2
61547536243, 3
E1547536244. 4

Question Number : 86 Question Id : 6154759294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) AT (2) wrgE™
(3)  Fumm (4) Taam
Options:

51547536241, 1
61547536242 2



E1547536243. 3
B1547556244. 4

Question Number : 87 Question Id : 6154759295 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘o’ =iy

(1) hl%ﬁ-PT'ﬁ‘ "-:{ (2} aa_ﬁ‘ 'E[

@ EmenEEl A @) ‘wAfiera’
Options:

61547536245 1
E154752624E. 2
E1547536247. 3
E1547536248. 4

Question Number : 87 Question Id : 6154759295 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘ria’ 9 Bl

(1) ‘faerrt H® o5 xeadd

) T A 4) ‘wAfera’ o
Options:

51547536245 1
61547536246, 2
61547526247, 3
E15475362458. 4

Question Number : 88 Question Id : 6154759296 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 9T (2) ==
(3) (BT (4) AT
Options:

BE1547536249. 1
61547536250, 2
61547536251, 3
E1547536252. 4

Question Number : 88 Question Id : 6154759296 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 3T (2) =&
(3) W (4) AY9
Options:

E1547536245. 1
B1547536250. 2
61547536251, 3
61547536252, 4

Question Number : 89 Question Id : 6154759297 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TAFHE At fead =i

(1) 357 sHR o= (2) @ Tl
(3) TR RS TS A9 4) T
Options:

61547536252, 1
61547536254, 2
E1547536255. 3
E1547536256. 4

Question Number : 89 Question Id : 6154759297 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A = fom i

(1) 358 AR 54 2) Fo TS
(3) U] SETEE]: T AT 4) TEm
Options:

B1547536253. 1
61547536254, 2
61547536255 3
61547536256, 4

Question Number : 90 Question Id : 6154759298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘el IUSTEE AT o1

(1) = Tuw =m (2) =T T At
(3) FATRINT g9 T (4) == 3w
Options:

BE1547538257. 1



E1547536258. 2
61547536259, 3
B1547536260. 4

Question Number : 90 Question Id : 6154759298 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Tl IUTEE AT o1

(1)  Su= T = =E (2) wTEIeRs T oAt
(3) AR 997 ToTaE (4) =T I T
Options:

61547536257, 1
61547536258, 2
E1547536259. 3
E1547536260. 4

Question Number : 91 Question Id : 6154759299 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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(d) History of Mithila

O ©wW@

2 @ ()

3 (@E@

@ (@

Options:

61547536249, 1
615475363250 2
E1547526251. 2
61547526252, 4

Question Number : 114 Question Id : 6154759322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TAFHEF =T 90

(a)  HIEA

by A=A
(c) FAhl

(d) = AEw
1) (@@
2) (b)) (o)
3 T @
(4) (a) 73 (b)

Options:

B15475362353. 1
615475362354, 2
61547536355 3
61547536356 4

Question Number : 114 Question Id : 6154759322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TAFTwE T AT

(a) HIEA

(b) =R
(c) EZEd

(d) = AEw
(1) (&)™ @
2) ()7 ()
3 (b)) @)

@ @ ®
Options:
615475363531
61547536354 2
61547536355 2
61547526356 4

Question Number : 115 Question Id : 6154759323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

THE FHT e TS T

(a) TEATEY
(b) = A FEa
(c) 11|

(d T

S S e

TTHTEgad Tl aFeas =999 FF
(1) (@7 (@
2 (@ (o)
(3 (®7T ()
4 (2™ (b)

Options:

61547536357, 1
61547536358 2
15475363259 2
61547526260, 4

Question Number : 115 Question Id : 6154759323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) &Y

(b) 3T F FEo
(c) @

(d) T

1 (@@
2 (@@
3 ®T (@
4 (2™ (b)

Options:

61547536357, 1
61547536358 2
E1547526259 2
61547536360 4

Question Number : 116 Question Id : 6154759324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(a) Hiy= HiEca® A= () form FEmE
(b) Afue wifaea® AEEATEF sidaE @) i s A
(€ T T T iU e (iil) A 94

(d) © Teedr o A o (iv) TETFE =T

Frefeataa o a9 foreas =00 +5

(1) (a)-(i11). (b)-(v), (c)-(iv). (d)-(11)
(2) (b)-(D). (a)-(11), (c)-(1). (d)-(v)

(3) (@)-@). (b)-(1). (e)-(iv), (d)-(1i1)
(4) (e)-(11). (a)-(1). (d)-(1v). (c)-(11)

Options:
61547536561, 1



E1547536362. 2
61547536363, 3
51547536264, 4

Question Number : 116 Question Id : 6154759324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(@) e ATfEe® siaem () fem A
(b) Hiu= TifeeF dEEATEEE e (11) _F-;Thﬂr =7 “#fier
© T s AR fem i) T

(d v o1 w4l e (iv) TgTEE =

(v) <aE

FAfeigd § a7 TFeas 997 5 -

(1) (a)-(111). (b)-(v). (c)-(iv). (d)-(11)
(2) (b)-(1). {a)-{ﬁi}. {c}-(ii}. (d)-(v)
(3) (a)-(). (b)-(1). (c)-(iv), (d)-(11)
(4) (c)-(m1). (a)-(1). (d)-(av). (c)-(11)

Options:

61547536361, 1

61547536362, 2

61547536363, 3
61547526364, 4

Question Number : 117 Question Id : 6154759325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) = Wi () T oE I

(b) e wiET = @) For

(€ T () THEYG =

@ A Gv) T S el
(v) T

(1) (a)-(11). (b)-(v). (c)-(11). (d)-(v)
(2) (b)-(111). (a)-(1v). (c)-(10). (d)-(1)
(3)  (e)-(1). (a)-(1). (d)-(111). (b)-(v)

(4)  (b)-(n). (a)-(111). (c)-(v). (d)-(v)

Options:

61547536365, 1
E154753263266. 2
61547536267, 5
61547536368, 4

Question Number : 117 Question Id : 6154759325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) = Wi () T oE I

(b) e wiET = @) For

(€ T () THEYG =

@ A Gv) T S el
(v) T

(1) (a)-(11). (b)-(v). (c)-(11). (d)-(v)
(2) (b)-(111). (a)-(1v). (c)-(10). (d)-(1)
(3)  (e)-(1). (a)-(1). (d)-(111). (b)-(v)

(4)  (b)-(n). (a)-(111). (c)-(v). (d)-(v)

Options:

61547536365, 1
E154753263266. 2
61547536267, 5
61547536368, 4

Question Number : 118 Question Id : 6154759326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T tgd el 317 STE geEg T e FE

- 1 o -
(a) TF9 THiE @) =T
(b) TawrmEm (i) TS TEEA HAME W AT AT
(c) wfomESH (iil) ©F TZEE T TG
(d) Fifde (v) i frms

(1)  (a)-(m). (b)-Q). (c)-(). (d)-(v)
(2)  (a)-(v). (b)-(11). (c)-(). (d)-()
(3) (a)-(111). (b)-(1). (c)-(). (d)-(v)
(4)  (a)-Q). (b)-(v). (c)-(111). (d)-(11)

Options:

61547536369, 1
61547536370 2
61547536371, 2
1547536372 4

Question Number : 118 Question Id : 6154759326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T tgd el 317 STE geEg T e FE

- 1 o -
(a) TF9 THiE @) =T
(b) TawrmEm (i) TS TEEA HAME W AT AT
(c) wfomESH (iil) ©F TZEE T TG
(d) Fifde (v) i frms

(1)  (a)-(m). (b)-Q). (c)-(). (d)-(v)
(2)  (a)-(v). (b)-(11). (c)-(). (d)-()
(3) (a)-(111). (b)-(1). (c)-(). (d)-(v)
(4)  (a)-Q). (b)-(v). (c)-(111). (d)-(11)

Options:

61547536369, 1
61547536370 2
61547536371, 2
1547536372 4

Question Number : 119 Question Id : 6154759327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=T TgT 94T 94T e 03

A B
(a) T HEET @) e
(b) T FremEE () e T
() == A (i) =W
(d) HATFE - (v) ==url fas
() T FaE

(1) (a)-@). (b)-(111). (c)-(av), (D)-(v)
(2)  (a)-). (b)-@). (e)-@). (d)-(Av)
(3)  (a)-(i), (b)-A1. (e)-(iv), (d)-(v)
(4) (a)-(iv). (b)-(v). (c)-(1). (d)-(111)

Options:

£1547536373. 1
E15475326274 2
61547536375,
61547536376, 4

Question Number : 119 Question Id : 6154759327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=T TgT 94T 94T e 03

A B
(a) T HEET @) e
(b) T FremEE () e T
() == A (i) =W
(d) HATFE - (v) ==url fas
() T FaE

(1) (a)-@). (b)-(111). (c)-(av), (D)-(v)
(2)  (a)-). (b)-@). (e)-@). (d)-(Av)
(3)  (a)-(i), (b)-A1. (e)-(iv), (d)-(v)
(4) (a)-(iv). (b)-(v). (c)-(1). (d)-(111)

Options:

£1547536373. 1
E15475326274 2
61547536375,
61547536376, 4

Question Number : 120 Question Id : 6154759328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



g T2 A9 E%F 07 [0 5%

A B
E TT=hIT
(a) wFie (GUsHA) (i) =
(b) TFEA -~ i (i) TS TE
() HHgT - =W (i) HawE =
(d) @ - =3t (iv) FEE =@ 3
(v) iz fau

(1) (@)-(v). (b)-(1), (c)-(1id). (d)-(1)

(2) (a)-(1v), (b)-(1), (c)-(11), (d)-(111)
(3) (a)-(111). (b)-(@). (c)-(1v). (d)-(v)
(4) (a)-(11). (b)-(1i1). (¢)-(iv). (d)-(v)

Options:

61547556277, 1
61547536378 2
61547536379 2
61547536380 4

Question Number : 120 Question Id : 6154759328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g T2 A9 E%F 07 [0 5%

A B
E TT=hIT
(a) wFie (GUsHA) (i) =
(b) TFEA -~ i (i) TS TE
() HHgT - =W (i) HawE =
(d) @ - =3t (iv) FEE =@ 3
(v) iz fau

(1) (@)-(v). (b)-(1), (c)-(1id). (d)-(1)

(2) (a)-(1v), (b)-(1), (c)-(11), (d)-(111)
(3) (a)-(111). (b)-(@). (c)-(1v). (d)-(v)
(4) (a)-(11). (b)-(1i1). (¢)-(iv). (d)-(v)

Options:

61547556277, 1
61547536378 2
61547536379 2
61547536380 4

Question Number : 121 Question 1d : 6154759329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Al =9 9 =S O eH FE

A B
zall LRI
(a) T T i) =gy b e
(b) =G Gi) i oy aay
() =Er (i) AFE TEE THE
(d) #Aiue Fom = (v) il fay
(v) HrwE =

(1)  (a)-(u). (b)-(). (c)-(11). (d)-(v)
(2) (a)-(11), (b)-(11). (c)-(1v), (d)-(v)
(3) (a)-(11). (b)-(iv). (c)-(1). (d)-(11)
(4) (a)-(11), (b)-(111). ()-(v), (d)-(1)

Options:

1547532638101

15475236382 2

61547536383, 3
61547526384, 4

Question Number : 121 Question Id : 6154759329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fafeiad =9 9 =S 9 HeR 7%

A B
bl T,
(a) TIF T () =y |y Cwmr
(b) g () e A
() HFE (i) AH TEE e
(d) #Aiue Fom = (iv) =ifdarrEe fay
(v) HEwE =

(1) (a)-(), (b)-(1). (©)-1). (@)-(v)

(2)  (a)-@. (b)-(i). (c)-av). (d)-(v)
(3  (a)-(w). (b)-v). (©)-@1). (d)-(w)
4)  (a)-. (b)-(w). ()-v). (d)-()

Options:

61547536381,
61547536382,
61547536383,
E1547536284.

i I Y

Question Number : 122 Question Id : 6154759330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

foiad = o9 TS O [HeE #E

A B
AT TR
(a) ®H I3 T (i) e
(b) TR () IHFIF AR
() =M+ fo=s == (i) T TH
(d) =97 e (iv) ey =

(1) (a)-(111). (b)-(Av). (c)-(i), (d)-(v)
(2) (a)-(11). (b)-(ii1). (c)-(iv). (d)-({)
(3) (a)-(1). (b)-(av). (c)-(v). (d)-(111)
(4) (a)-(v). (b)-(1), (c)-(111). (d)-(11)

Options:



E1547536385. 1
B15475362386. 2
B1547536387. 3
61547536388, 4

Question Number : 122 Question Id : 6154759330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HETENEgd =941 9 =990 97 WeF F7E

A B
TTAT T-ThIL

(a) @M 2@ T 1)  HEE

(b) T () IHF IF A

© = fore am (i) == = A

(d 97 T (v) Ty =

(v) =it 54

[ [ & [l i
HHE@Ngdd Jel dhedsh 994 FF

(1) (a)-(111), (b)-Gv). (c)-(11), (d)-(v)
(2)  (@-@). (b)-(). (c)-(v), (d)-()
(3) (a)-(1). (b)-(v), (c)-(v). (d)-(11)
(4) (a)-(v). (b)-(1). (c)-(ia1). (d)-(11)

Options:

615475363851

E15475368386. 2

61547536387, 3

61547536388, 4

Question Number : 123 Question Id : 6154759331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(a) ARG ws Saeqde A% Hias] e @® =T

(b) FEIH ATF AU Fraw i) gHifa FAw ==
(¢ wm-fasm (i) Feeg Y T
(d) =TT fame =g (v) e A1y faam

(1) (a)-(). (b)-(1), (c)-(1v). (d)-(111)
(2) (a)-(1). (b)-(i11). (e)-(iv). (d)-(1)
(3) (a)-(i11). (b)-(v). (c)-(1). (d)-(11)
(4) (a)-(11). (b)-(11). ()-(1v). (d)-(1)
Options:
51547536389, 1



E154753623390. 2
615475362351, 3
51547536352, 4

Question Number : 123 Question 1d : 6154759331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FeTeiEgdd T35 meH F7F

(@) A s SawTHe o1 A @ @) =EEE

(b) HITHIN AF HGS Fraw (i) FAI FAR T
(© - (ifi) A= A T
(d) g T g (iv) e =1 faam

(1) (a)-(11). (b)-(1). (c)-(v). (d)-(i11)
(2)  (a)-(). (b)-(1id), (¢)-(v). (d)-()
(3) (a)-(iti). (b)-(Av). (c)-(1). (d)-(i1)
(4) (a)-(i11). (b)-(1). (c)-(1v). (d)-(1)

Options:

E1547E2E259. 1

1547536390 2

15475236391 2

15475236392 4

Question Number : 124 Question 1d : 6154759332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

o o O o N A
FATaiEas T F9 meE 5

et - 1 T - I
(b) =ETF 9T ) ==
(©  HFFTET T (i)
(@) e (iv) F7

(1) (a)-(111). (b)-Q). (e)-(iv). (d)-(11)
(2) (a)-(1v). (b)-(11). (c)-(1). (d)-(u11)
(3) (@)-(1), (b)-(111), (c)-(1v), (d)-(1)
(4) (a)-(1). (b)-(mm). (c)-(n). (d)-(1v)

Options:

E154752E85255 1

E1547536394 2

BE15475363595 3

615475363596 4



Question Number : 124 Question Id : 6154759332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tt - I gl - 11
(b)  =EHE= 9 (i) =HuE
(c) AT ST AT (1)  FErEE
(d FoF g (v) Fo

(1)  (a)-(m). (b)-Q). (c)-(v). (d)-(11)
(2) (a)-(v). (b)-(1). (e)-(1). (d)-(111)
(3)  (a)-(). (b)-(b), (c)-(v), (d)-(1)
(4) (a)-(), (b)-(i11), (e)-(11). (d)-(iv)

Options:

61547536393 1

61547536394 2

615475268305 2

61547536396, 4

Question Number : 125 Question Id : 6154759333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefelaa o= 9 Iu=ans o Wer &

T - 1 T -1
(@) e @ = -
(b) gl (i) e
(© g=T (i) =g
(d) 3 FAF AEr (iv) S

(1) (a)-(111). (b)-(1). (e)-(11). (d)-av)

(2) (a)-(1v). (b)-(111). (c)-(2). (d)-(1)

(3) (a)-(111). (b)-(1). (c)-(1). (d)-(v)

(4) (a)-(11). (b)-(1v). (c)-(111). (d)-(1)
Options:

615475363397, 1
615475363958, 2



E15475362395. 3
51547536400, 4

Question Number : 125 Question Id : 6154759333 Question Type:

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

FrefoiEg ST=EH 319 ST9EHE 97 T09F 5

(a)
(b)
()
(d)

= - 1

SUETH
FAl @ =
EEGITE ] (i) @ed
EE=IvEl (i) =Fad M
3 Tods S1E (iv) =EFA

=Y H7 fTFeTF =999 FF

(1)
(2)
(3)
(4)

Options:

). (b)-(1), (c)-(1). (d)-(v)

)-(111
(a)- {w) (b)-(111). (c)-(1). (d)-(11)
)-(1m1
)-

(a

(a)-(11). (b)-(11), (c)-(1). (d)-(v)
(a)-(1). (b)-(v), (c)-(1m1), (d)-(1)

E154753683597. 1
E15475362398. 2
6154753623595, 3
51547536400, 4

Question Number : 126 Question Id : 6154759334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

(1)
(2)
(3)
4

Options:

Hiot |feeg o3, fafyen 9E, sv-—amwe, der
:jﬂa_; . HI—H r:_-;'x. {q{ﬁﬁ IE-F:' q-fg-]f_"':[ O rlnf'q =

fafuer o=, 991, 4fu= miEe ™, -

E1547536401. 1
B1547536402. 2
61547536403, 3
61547536404, 4

Question Number : 126 Question Id : 6154759334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

MCQ Option Shuffling: No Display Question Number : Yes



Correct Marks: 2 WrongMarks: 0
’3-"-'-.;.-";-1:!’3-: '-'j_rE- .].: -lr:lm%j:aa ':Il':lﬁ- = 3] -q?'ﬁ ;ﬁq -\:Jﬁ 3

(1)  #ust arteer w1, fafaer amg, av-amw, d59t
(2)  Tafaer ==, At afees w3, 924, @i-amm
(3) =, wm-smm, fafuen ar, dfue @

(4) Tofue o=, 9291, B9 OEs o, T-aTe
Options:
61547536401 1
E15475268402 2
E1547536403 3
61547536404 4

Question Number : 127 Question 1d : 6154759335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

AT 3re I Taiad T TR SET T

(1)  FoE=, sFEEnd, S EGed, TETEs

(2)  FFEEEA, FOEH, B FEE, TEaeE

(3) =efiw faew, EEes, FOE, FEEid

4) T, FOEH, FEHER GEE, T

Options:

61547536405, 1
61547536406, 2
61547536407, 2
E1547526408. 4

Question Number : 127 Question Id : 6154759335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR ZIE0 e (eiad T Tal STE oS

(1)  FOEH, SFEEEd, e HoH, TETEE

(2)  ATEERd, FEEH, B [Gem, TEaeE

(3) e [aad, TANTeE, FOE-H, STFEERd

(4) T, FOTA, BRI Aem, EEnd

Options:

£1547536405. 1
E15475326406. 2
61547536407, 5
61547536408, 4



Question Number : 128 Question Id : 6154759336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ARG 200 T TR A ST

(1) a9, ifEd-2un, ATeER-aifeH, daen-a90

(2) ABEN -ATH, HEcd-3U0, T2, ASET-390

(3) AT, TAMeca—20", SR —200, STSET a1
(4)  HEFH-ZUV, HIEE-20Y, AEANE, AGER AT

Options:

61547536409, 1
61547536410 2
1547526411, 2
61547526412 4

Question Number : 128 Question Id : 6154759336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Wﬂﬁgflwg—ﬁmw 3 :

(1)  F=ZF9ne, dfeca-aum, AGgHR-alfeH, dSgn -390
(2)  FAEEE-AIEH, HiE -0, T, AGEH-590
(3)  TIIA, HfacH—3U, AGER-3U, ASFH-HTIwH
(4)  FFEN-Z, We-30W, T, AFEN -G

Options:

61547536409, 1
61547536410 2
61547536411, =
61547536412 4

Question Number : 129 Question Id : 6154759337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T 2T THATE Tl SIS 2T

(1)  wwE=ne, i T, T -, T Wi TEHE

(2) fforararaT T, ST, TEEe-TE, Wi Hie T
(3) =i fiaer TaEm, amEiE, ThEei-TiE, Eierar
(4) ot e, HaretE Wi TEE, e T, ety

Options:
61547536413, 1
61547536414 2

£15475368415 3



E1547536416. 4

Question Number : 129 Question Id : 6154759337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TEATHTSF 190 ToATH TRl STHA 3T

(1) T, e T, e e, Wi mider e

(2) ffaesram T, T, A -THE, W mie T
(3)  THaElE TafdesT THEw, s, TRl -aioE, e T
(4) i e, warEiE e TEE, tEEe T, s

Options:

E1E47535412 1

1547526414 2

51547536415 3
61547536416, 4

Question Number : 130 Question Id : 6154759338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ST 200 TATRRF TRl ATEE 2ETS

(1)  I=A, 76, 999, 9
(2) =YW, gEA, TEI, HE
(3) A, "YU, HiEA, AR
(4)  FE, g, 7T, A

Options:
615475364171

E15475364158. 2
E1547536413. 3
B1547536420. 4

Question Number : 130 Question Id : 6154759338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
STEYTF ZfOT AT Hal AT 2T

(1) g, T, 3yge, A7

(2) HET, FEA, AT, AT
(3) T, HY9, AiE, IE
(4) =, A, A9, 9

Options:
615475364171



E15475364158. 2
61547536415 3
61547536420, 4

Question Number : 131 Question 1d : 6154759339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT U0 HETHd 9T Tal T35 3Es

(1)  gygrEw, FomEEd, AfE-a9, 3O

(2) T, FeET, HAZTEI, SAfETa-ag

(3)  IeEA, FomEla, AETEv-aE, GUgE

(4) TYETE, FOTENRA, 3o, SATEam -y

Options:

61547536421, 1
61547536422 2
61547536422 =2
E1547526424 4

Question Number : 131 Question Id : 6154759339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TR ® S0 T TaTF a1 S FH <Ems

(1) g9, FomEha, sfemEn-ag, s

(2)  ForEhEd, IE, gEgE, AfREn-ay

(3)  Sem, ForEia, sAtEE-ay, gHgE
(4)  HugTEw, FOERE, oA, AETET-ag

Options:

61547536421, 1
61547536422 2
61547526422 5
61547536424 4

Question Number : 132 Question Id : 6154759340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



@) qTed THETE TaEe]. Tera 90z, 9 TEEel, 99 S
(8) =% TEEE, TR THEE TMAEE], TEEEE TE, 5 el

(4) =% T=ES, TEEEH 99, 9 TAEel, 9rEd T Tl

Options:

61547536425, 1
61547536426 2
61547536427, 2
61547536428 4

Question Number : 132 Question Id : 6154759340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

FoF 200 IS Heg AEdTEd g mEms Al

(1)  oOT" TR MaEe, 9= =AEdl, 95 Teael, TEOEE TuE
(2) TS THEE e, RS U8, W TEEel, 9% =l

(4) == T=EESl, TEEEEl 995, 9 THEel, 3Ed THEE el

Options:

61547556425, 1
61547536426 2
61547536427, o
61547536425 4

Question Number : 133 Question 1d : 6154759341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TEATRISF SE0 (A {eiad STETAE TR 91D
(1)  wewar=, i e, |91t 392
(2) =, Ut T, A, adeEr

(38)  ufu=F fame, T, amEr, 91

4) T2, FeETd, "iEL, WO e

Options:

61547536429, 1
61547536430 2
61547536431, 2
61547536432 4



Question Number : 133 Question Id : 6154759341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AT 3190, (e STETHE Ha e 1

(1) o=, i e, Amt, 392

(2) =2, Ui ToETEe, ATE, TEET

(3) iy e, gdwra, 95, =

4) 34912, Haend, a1gL, iU e

Options:

61547536429, 1
61547536420 2
61547526421, 5
61547536422 4

Question Number : 134 Question Id : 6154759342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

N [a) e 1 i
(1) AT, Floa 1y = 0 |, 590, THETY =1

(2)  SETaEER, Y I, FeEE o e, s

(3) 4T, SO, FIeE AT T TR, TR o

(4) g, s T =1 TR0 . T T, BEE

Options:

61547536433, 1
61547536424 2
61547526425 5
61547536426 4

Question Number : 134 Question Id : 6154759342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) =AM, FEg A TR, BEO, THETY AT

(2) AR, TG I, FeEETT o e,

(3) SRR, FETS, FIeA T TR, TR 3

(4) ST, =9 =1 TR0 . T S, EEIE

Options:
£1547536433. 1
615475368424 2



E1547536435. 3
51547536436, 4

Question Number : 135 Question Id ;: 6154759343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fn g

e Ty 3 FUF 3% e AlS | Ui U T (Assertion) — (A) TF 2T 9% (Reason) — (R) #7E |

TITAT (Assertion) - (A) 1  FRETEATY 9F UZASTE T:'F_L Y T8 9T |

ﬁ?ﬁ{ﬂeasun)-{'ﬂ}: Wﬁﬁdﬁﬁmmﬁﬁl
1) (A == (R) @A
(2) (A TToa R) TE
(3) (A) T4 (R) Ted

4 (A T R) TR
Options:
615475364371
61547536438, 2
61547536439 2
61547526440, 4

Question Number : 135 Question Id : 6154759343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frae : v 3 YA 2 T S | UiEH U T (Assertion) — (A) T =it 7% (Reason) — (R) #1135 |
<% % faweTd Tal faweas 997 &%

i~

TITTAT (Assertion) - (A):  FRETSATY AW TZIETF ?ﬂ M a2 97F |

7% (Reason) - (R) : HRETEATY qE THH TS P |
(1) (A 77 (R) T=a
2) (A) Tod R) =
(3) (A) T=d (R) Ted

4 (A TE @) TE

Options:

£1547536437. 1
61547526428, 2
61547536429,
61547536440 4

Question Number : 136 Question Id : 6154759344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

FTerh AT T =R T8 %9 2@

(2) T ITF, THIG FAE T2, IGEE GFEAT, A 3

(3)  HHifa TR =2, F 350, M= W, e g
(4) e 30, STEEH HEAT, W I50F, i AR T2

Options:

61547536441 1
61547526442 2
61547536442 o
61547536444 4

Question Number : 136 Question Id ;: 6154759344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FTerh AT T =R T8 %9 2@

(2) T ITF, THIG FAE T2, IGEE GFEAT, A 3

(3)  HHifa TR =2, F 350, M= W, e g
(4) e 30, STEEH HEAT, W I50F, i AR T2

Options:

61547536441 1
61547536442, 2
61547536442 o
61547536444 4

Question Number : 137 Question Id ;: 6154759345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



i : Fefetan WA 3 @ #9940 @ 99| RS uH ST (Assertion) : (A) ¥ IER TH
(Reason) : (R) #f& | 2% 7@ fasea 998 98 faweTs =99 5%

AT (Assertion) - (A) : eI 199 ITEFT U9 SATYI0E THcArF] 74 SF 3149 |

TF (Reason) - (R) : HTFo9 AT IEETT FEE FH|
1) @ wE®) &

(2) (A) =7l (R) TEd

(3) (&) Tod R) FH

(4) (A) 7Td (R) Tod

Options:

£1547536445. 1
15475326446 2
61547536447, o
61547536445 4

Question Number : 137 Question Id ;: 6154759345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fem . Fefelaa ovd 3 @1 99 %@ o wfe| of#H UH T (Assertion) : (A) T I A
(Reason) : (R) # e | ?'E % Tawes o9y T8 faweas =999 %

TITET (Assertion) - (A) : FIHMET 3799 T U AT THeaT F9 ERIE T =19 |

% (Reason) - (R) : ST G IIeAT FET HE|
1) @A) == @) T

(2) (A 7= R) @A

(3) (A) T=a (R) T

(4) (A) Ted (R) Ted

Options:

61547536445, 1
61547536446 2
61547536447 o
61547536445 4

Question Number : 138 Question 1d : 6154759346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



59 « ovaH 3 F¥H 2% Mo A | UiEH UF T (Assertion) : (A) @7 2@ @5 (Reason) : (R) #T5 |

AT (Assertion) - (A) : TAMMS 99F 92 F1 Fd= = @1fs 7= faz $1 2ma 957

@ (Reason) - (R) : 2 3o o T TEFF Ui |
(1) (A) == R) T

2) (A e R) T

(3)  (A) T=a (R) Toa

4) (A =@ ®) ==

Options:

61547536449, 1
61547536450 2
61547536451, =
61547536452 4

Question Number : 138 Question 1d : 6154759346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e« UvH 7 F9H 2% T 75 | UEH UF T4 (Assertion) : (A) ¥ 2&E 7% (Reason) : (R) 375 |

AT (Assertion) - (A) ; HTis a9 98 1 FHATE o His 1579 {978 =i =i5d 95 7

% (Reaszon) - (R) : % 3fFd A AEETE TEEE i |
1 (A FE ®) T

(2)  (A) oA (R) Tel

(3) (A) = (R) Tod

4 (A =& ®) ==

Options:

61547536449, 1
61547536450 2
61547526451, 5
61547536452 4

Question Number : 139 Question Id : 6154759347 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



[ . &

Fee . fFefeigs T9H 3 21 FYF 9% o HA1S | UfRH UH T (Assertion) : (A) #T SR T
(Reason) : (R) 3% | 2 % Taeed 99 Tel Taeheash 994 &% -

TATHT (Assertion) - (A) : FfFars A0 T&T FATF AMHF TFF TAAFO B F A T HTAF

% (Reason) - (R) : O |1 Fiadreh 3294 A8 3773 |
ﬁm ;

(1) (A) T=a (R) T#t
2 (@A) == R)=E
(3) (A T#E (R) T=d

(4) (A) T (R) e
Options:
61547536452 1
615475268454 2
61547526455 3
61547536456, 4

Question Number : 139 Question Id ;: 6154759347 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fes : FETeigd WAH g 2 RO 3% e ARG | UEH UF A (Assertion) : (A) 3T SE O
{Eeason}:[ﬂ.)mﬂ?lﬁﬁ;ﬁﬁﬁm- aud Tl faseas =999 5% -

AT (Assertion) - (A) : Fiadrs A" S&T TURF AMHF UAF TAHFO FC F AF T TIEF
TETE WIS T e 7S |

7% (Reason) - (R) : =9 AT Fiadr 3299 908 2973 |

forpe

1) (A Ted ®)FE
2) (A w1 ®R)THE
3) (A =& (R) T

(4) (A) T (R) Ted
Options:
61547536453, 1
61547536454 2
61547536455 2
61547536456 4

Question Number : 140 Question Id : 6154759348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fiem . fefefga v 321 o9 2% o #Afe | ufed uE T (Assertion) : (A) ¥ 2 A
(Reason) : (R) 913 | 32 7o fa#=q oW o1 (e F =99 &% -

T (Assertion) - (A) : 9191 fo=-TaHAa® W940 =159 | o9 30 A/0T% WA T R LAY hid
AT | ATTS W HEcd S0 | 9T S S A AR Fie T AT |

% (Reason) - (R) : g faEmE AfYsated T, T W 99T 59T OEeed TEH IO 9Ee
=159 | v e wy g Fam wieg | A e ol g A At |

[ o)

Taahed

(1) (A) T@a (R) ==
@2 A = ®)TH
3) (A @E (R)Ted
4) (A @) F T

Options:

61547536457, 1
61547536458, 2
61547536459 =2
61547536460 4

Question Number : 140 Question Id : 6154759348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e el wwE g7 #9939 e 9| o TE T (Assertion) @ (A) I I T
(Reason) : (R) #% | 3= 7o fakey wwm wdt (T ) =97 %5 -

I (Assertion) - (A) : WY FOER-TEHETF 91999 259 | 9991 30 4996 999 T R SO i
AT | ATUS IR Heed S0 | A7 S S S A(E Jie T ST |

7% (Reazon) - (R) : g fHEmE sAfgsatad 54, 4T W 99aTF OYY Hesed TEH YT A
7159 | T s @y Ty Fram 2igg | F1 wre oiR g A At |

IEETa

(1) (A) Ted (R) 771

(2) (A == (R) ==

(3 Q) =& R) T

4 A =R FH A

Options:
61547536457, 1

E1547536458. 2
B1547536459. 3
51547536460, 4



Sub-Section Number: 2
Sub-Section I1d: 615475403
Question Shuffling Allowed : Yes

Question Id : 6154759349 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension

fam - e TR erEgEE ufe ofEd g 91 § 95 4fth WAEeE 3 29 i g (aEeud mel

|li,—|FFL| :|__-FJ = B B e T

UHAT AT TPH IHAH HAHS T AT ] T @ 52— AE A FEe 9 TS FEd AT aree

STTH TR UHRIeARAT T18 B9 | AT d A9 T, T, A4, 99, T, T9E Seed T 2EaE 19
Ty fa=ars 797 591 39 S | SUE SSEAER Ul {99 UshTeEeRdT, WA U2 fem e g e

S | AR § SEEd Add HAl9 9 3UgEd [Aieears faeEd s, d9 AAles WEeiE wEd Thd

AlS 31 AMER 299 oA g8 T2d AlS | UfE UEAE Hi4 950d Ted Ais; wafEE @v s 29 ai,

REG! ufed T Ak qAST = 7 | ofE A T T 18 IS [ W1 @9 9T 58|
Sub questions

Question Number : 141 Question Id : 6154759350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

aiiq'ﬂ -\._j:rrlﬁ I:Ilql I’qaﬁll # r-‘.l:‘;i 4

(1)  #reg=ar® (2) T
(3) U (4) T
Options:

E1547536461. 1
E1547536462. 2
B15475364E63. 3
61547536464, 4

Question Number : 142 Question 1d : 6154759351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ATF B9 H HANE A9H UF Y AT T80 B

(1) FE (2) Ui
(3)  w@EmaTEw (4) r=E=E
Options:

E1547536465. 1
61547536466, 2



E15475364E67. 3
51547536468, 4

Question Number : 143 Question Id ;: 6154759352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT T, :11?;;:4 TT2h EEaizEEl AT IEE: T "T"-'T‘I A3, o fir:

(1) TRITHHAT (2) HEHES AT
(3)  =EEITHFAT (4) Tatg=eg=a
Options:

E154753646%5. 1
E1547536470. 2
BE1547536471. 3
B1547536472. 4

Question Number : 144 Question 1d : 6154759353 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1)  offesry (2) @
(3) =i (4) T
Options:

BE1547536473. 1
61547536474 2
61547536475 3
E154753647E6. 4

Question Number : 145 Question Id : 6154759354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
I Tafig=arh faas mgaE a2 #hs:

(1) 39 — dETE (2) el - EEE ey
(3) H=9 - A9 (4) FEST - 99T
Options:

61547536477, 1
61547526475, 2
E1547536473. 3
E1547536480. 4

Question Id : 6154759349 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehiension



fam - e e erEgEE ufe ofEd g 91 § 95 ufth WAEeE 3 29 e "g-(aEeud mel

{-irirFIFH :]E = E{-;_ *

UFAT AT TLF I A9 TR 37 ; FE TY AEE T2-92 G042 Az FEe T Ths TE@d S @
A9 Tq=arE 70 51 20 AT | SUE ATSHAR Uhal (9% TEeHTal, WA T e e g e

ATS 3N SAMET 279 TeATHA HHa T2d TS | U UERATE HiW 95 15d H10S; SAEqE @0 HU 29 M,

T UfEd 3 At "FE = o Ui S T 16w AT Ul 9 e TS|
Sub questions

Question Number : 141 Question Id : 6154759350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

.EJEIEI'FI T.‘Fi"TEI UehTrH=hd :|'T_F' nF:.IF':.*:ﬁ :

(1)  wTe=a® (2) uEEE
(3)  UETE (4) =ETITE
Options:

E1547536461. 1
E154753684E62. 2
E1547536463. 3
B1547536464. 4

Question Number : 142 Question Id : 6154759351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
SATYF B H HANE A9H UF THIh U] 10 B

(1) FE (2) TEEEE
(3)  wHIE® (4) HATEAE
Options:

51547536465, 1
61547536466, 2
61547526467, 3
E15475364E65. 4

Question Number : 143 Question Id : 6154759352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT Tl ?ITﬁ:'E‘T T2 ICEIE Rl AT it 2a w1fe, 9 U=

(1)  ueTe=hdl (2) rETEEEA
(3) EET AT (4) Tata=ea=an
Options:

61547536469 1
61547536470, 2
E1547536471. 3
E1547536472. 4

Question Number : 144 Question Id : 6154759353 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) gt (2) T
(3)  Hmm (4) T
Options:

61547526472 1
E1547536474. 2
E1547536475. 3
B1547536476. 4

Question Number : 145 Question 1d : 6154759354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
s fata=ars Ty wguE 2ea s

(1) Tﬁrq - AT (2) =ear - SRR
(3) o= - 499 (4) EAY - S
Options:

BE1547536477. 1
61547536478, 2
61547536473, 3
61547526450, 4

Sub-Section Number: 3
Sub-Section 1d: 615475404
Question Shuffling Allowed : Yes

Question Id : 6154759355 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension



fem - = s e T vl mrg 96 ¥ 100 9iF UvEEEE I 24 o0 "95-TaweTd HEl
(foed )& =7 &%

"B A fafuer=es o9 a=E a9 OF | o 9rdE wdl 9w gfars O ) =l 99 s
AER oA FHE 9rdE A g oA ggE e (B, 9 o 9eed) Foaa e i |
mﬁmqﬁmmmﬁaﬁﬁme|vﬁﬁm AT TR EY AEEZed 2l AiEd A |
FIE-TITEH 9T T HFE?'EIETFH T El'dm T2q ¥t | Tt e FouaTe® TFAVERTS A 9
TIEE TiarTaed Fia D19 | UF 28 o9 e i, aaEel, T we, SR, gt st
TR WigEmEy (FEEae) ° Hided mmmmmmmmﬁﬁmm
FUEM | ATSTHEE GiFgHie 7001000 5. A T A0S | g Hiecad T YSraad 3@ SIS 310 |
a1 faemufa WAl Fo® 9% I oOn | TEHdE miusEen sH A A G @iEe e

ALY FaAoF | TR TaFeH THFeTT 199 |

Sub questions

Question Number : 146 Question Id : 6154759356 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A qo 19

()  Yem=n (2) FIEA
(3)  Tafammym (4) WEETH
Options:

61547536451, 1
615475264582, 2
E15475364583. 3
E1547536454. 4

Question Number : 147 Question Id : 6154759357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TETI TfE FTATATEF FHATHEE DA Fd B

(1)  Hro-97) = (2) 9 =ETE
(3)  TFA 9 H=EF (4) TafyeygT ==
Options:

615475364585, 1
61547526456, 2
E154753684587. 3
E1547536488. 4

Question Number : 148 Question Id ;: 6154759358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Y&
I+

e [l [ F-
=t =IO AUSH TEEwrE = TS

(1) =g (2) TEETHF
(3)  waa® (4) Fizaa®
Options:

51547536455, 1
61547536430, 2
61547526431, 3
E15475364352. 4

Question Number : 149 Question Id : 6154759359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

J:‘lx_d'-' Fi r!--.-‘“':|5|-. -E‘_C:FIT -ul =14 d:IF ri'.'—; L

(1) T = 2) v TEEE
(3) T HeATEEA (4) TFT TR
Options:

E1547536453. 1
61547536454, 2
61547536435 3
61547536436, 4

Question Number : 150 Question Id : 6154759360 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ol 7 i v < r -
ATARIT HITETEAH 70 dlcdd 577 ¢

1) T (2) =
(3)  dmyiead (4) FHo™
Options:

BE1547536457. 1
61547536458, 2
615475364399 3
61547536500, 4

Question Id : 6154759355 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension



fem - = s e T vl mrg 96 ¥ 100 9iF UvEEEE I 24 o0 "95-TaweTd HEl
(foed )& =7 &%

"B A fafuer=es o9 a=E a9 OF | o 9rdE wdl 9w gfars O ) =l 99 s
AER oA FHE 9rdE A g oA ggE e (B, 9 o 9eed) Foaa e i |
mﬁmqﬁmmmﬁaﬁﬁme|vﬁﬁm AT TR EY AEEZed 2l AiEd A |
FIE-TITEH 9T T HFE?'EIETFH T El'dm T2q ¥t | Tt e FouaTe® TFAVERTS A 9
TIEE TiarTaed Fia D19 | UF 28 o9 e i, aaEel, T we, SR, gt st
TR WigEmEy (FEEae) ° Hided mmmmmmmmﬁﬁmm
FUEM | ATSTHEE GiFgHie 7001000 5. A T A0S | g Hiecad T YSraad 3@ SIS 310 |
a1 faemufa WAl Fo® 9% I oOn | TEHdE miusEen sH A A G @iEe e

ALY FaAoF | TR TaFeH THFeTT 199 |

Sub questions

Question Number : 146 Question Id : 6154759356 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A qo 19

()  Yem=n (2) FIEA
(3)  Tafammym (4) WEETH
Options:

61547536451, 1
615475264582, 2
E15475364583. 3
E1547536454. 4

Question Number : 147 Question Id : 6154759357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TETI TfE FTATATEF FHATHEE DA Fd B

(1)  Hro-97) = (2) 9 =ETE
(3)  TFA 9 H=EF (4) TafyeygT ==
Options:

615475364585, 1
61547526456, 2
E154753684587. 3
E1547536488. 4

Question Number : 148 Question Id ;: 6154759358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Y&
I+

e [l [ F-
=t =IO AUSH TEEwrE = TS

(1) =g (2) TEETHF
(3) @A (4) et
Options:

51547536455, 1
61547536430, 2
61547526431, 3
E15475364352. 4

Question Number : 149 Question Id : 6154759359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

J:‘lx_d'-' Fi rl--.-‘“']II-. -E‘_C:FIT El[:cn d:IF ri'.'—; L

(1) T = 2) v TEEE
(3) T HeATEEA (4) TFT TR
Options:

E1547536453. 1
61547536454, 2
61547536435 3
61547536436, 4

Question Number : 150 Question Id : 6154759360 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

* - [ = v 9 r .
AT=RIASE M@= 7HL d09d 3T

(1) = (2) @A
(3) g (4) FHEE
Options:

BE1547536457. 1
61547536458, 2
615475364399 3
61547536500, 4



